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HISTORY (zfrem)

Instructions : The answer of Question No. I is compulsory having 2 marks for each objective
question. The candidate is required to answer two long type questions out of four
questions. Each carries 40 marks.

forda - w g&1 1 &1 SR A R ft 2 3w wds & agfe e €)1 wend 4
2" I Ut A A TR 2 1 9w 3| vds U 40 3+ 2

I.  Objective Questions (==gf8 wew) (2x10=20)

1.  Barygaza, identifed as Bhrigukachha, the outstanding port in ancient India, is situated at the
estuary of which river?

(A) Godavari (B) Kaveri
(C) Narmada (D) Tungabhadra
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Which of the following Harappan cities is kKnown for its impressive and unique Wi

2.
and management system?
(A)  Mohenjo-daro (B) Dholavira
(€)  Kahbangan (D) Ropar
e . . qetd &
ﬁmﬁfﬁams@ﬁﬁaﬁa,mmaﬁta@mmﬂaﬁm forg
ST STET R ?
(A) WigFsigst (B) AT
(C) A= @) AU
3.  What was ‘Sondhar’?

(A) A fertile category of land

(B) Barren land .
(C) Grants provided to the religious institutions

(D) Loans to the peasants

FET FAT AT?

(A) SIS FHIA

(B) FASYIS: THIA

(C) enfifes dearel wi fedm T HIEH
) framt & fag =0

4.  Shivaji surged his income by levying a ‘contribution amount’ on the neighboring Mughal

territories. This amount is known as
(B) chauth

(A) saranjam
(C) dabir (D) paga
ﬁmﬁﬁwﬁwﬁm‘ﬁwvﬁr%maﬁwmmﬁmﬁa@ﬁ
£ za iy & few a0 A w1 ST 82
(A) &M

(C) TER (D) 9T
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The *Hindu widows™ Remartiage Act” was enacted in which year?

(A) 1850 (B) 1857
(©) 1885 L
fig P gafdare sl e ad @ wn ane

(B) 1857

4A) 1850
@©) 1885 (D) 1889

wWho was the Viceroy of India at the beginning of Quit India Movement in 19427

o
(A)  Lond Linlithgow B) Lord Wavell
(©) Lord Irwin (D) Lord Reading
1042 F WRA BIS! AQled 6 YFd § ARG F IEEE HHA A7
@ wié fetern ®) «FE T
© i R D) wiE afm
7. Which of the following publications is not associated with Mahatama Gandhi?
(A)  Indian Opinion ®B) Kesari
(C) Hind Swaraj (D) Harijan
frfafad weIeET # A HA-91, AT T § gafia qg e ?
(A) s sifuf _B) FEd
© fez &= D) e
8  Which of the following leaders is famous for the accession of the Princely States into the
Indian Union after Independence in 19477
(A) Vinoba Bhave (B) Jayaprakash Narayan
(C) Subhas Chandra Bose (D) Vallabhbhai Patel
frmfafeg 3 @ 2 A X1, 1947 F w@amar wif & vy fawdl 1 ARda 9e q
yfaren & & fog witg €7
(A) foreT 9ma (B) SEATHIY AR
C) gow =g = D) FewWAR G
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Munda “ulgulan® of 1899-90) was led by
(A Kunbi Peasants (B)  Birsa
() Swdhu and Kanhu (D) Vinoba Bhave
18951900 } gU W1 IH[EA" F g fray fean oo
(A F= feam —B) faan
© &g 3Rk =g D) fo=r W
‘Daman-i-koh’ is associated with
(A)  Kolis of Gujarat (B) Bhils
(©) Satara uprising (D) Santhal uprising
FfF-u-we wafig R
(A) TORId & Hiell ®B) Ww A
(C) wax fage | Py "I
Long Answer Type Questions (3rd Iud@ we) (40x2=50)

Describe the factors of the origin of the Indus Valley Civilization.
fag-ardt awar it Iafa & FRS S|

Critically analyze the market reforms initiated by Alauddin Khalji.
FATSeA faersil g1 IF U Y SER-GaR 6 A@="cds aHiEn +

“The 1857 Revolt was the first war of Indian Independence”. Comment on the statement.

1857 61 Hifd ARG @aadT GUW ) T grs M|” IF wAT I THIE R

“The tribal revolt led by Birsa Munda expressed the anxieties of the peasants in religious
idioms’. Comment.

forcen v % g # gy seemha gt # fifa fer 6t fad affe qeed #
sif¥regam 21 @1 41| ==t )
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Im.m,;:ﬁ(ms : The ﬂhnSWf;;Of Que.stion No. Iis compulsory having 2 marks for each objective
qucst}()n. ¢ candidate is required to answer two long type questions out of four
questions. Each carries 40 marks.

naqmlmwwﬁad%ﬁﬁﬁzmm%aﬁﬁewﬁ%mﬁmﬁ4
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I Objective Questions (&g wym) (2x10=20)
i Find the correct Match :

@ Milam Glacier (@) Shyok valley

i) Siachen Glacier (b) Braldo valley

i) Rimo Glacier (¢) Kumaon-Garhwal

(iv) Biafo Glacier (d) Nubra Vallley

@A) (@) - (), (i) - (d), (ii) - (@), (v) - (b)
®) @O -(d), (i) - (), (ii) - (b), (iv) - (c)
© @H- (@), (i) —(b), (iii) - (), (iv) —(d)
@ @@ — (), (i) - (c), (iii) —(d), (iv) - (a)
w@t e @S

Gi) fr femme (c) FHTSH-TgaTd
) fmmr fewmg (d) g1 =T

A (i) —(©), (i) = (d), (i) — @), {v)—(b)
B) (i) — (d), (i) - (a), (iii) = (b), (V) —(c)
© @) - (a), (i))— (b), (i) = (), (iV)—(d)
D (i) - (b), (i) — (c), (iiD) — (@), (V)= (@)
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The Ghaghara river cuts a deep gorge at
(A Kan (B)  Shishapani
(©) lLam (D) Kalsi
W A R SR W ouw e werag w1 Pt wxdt 2
(EVI i B) et
(©) «wsH (D) FHTae

Which among the following was declared the second Biosphere Reserve of India on
18.01.1988?

(A) Manas (B) Nilgiris
(C) Sunderbans (D) Nanda Devi

frafofaa # fr 18.01.1988 91 wRa &1 e IR Red Al feay T AT?
(A) ATH B) ik

(€) gew@A (D) e ot

Which of the following statements regarding ‘Bharat Dal’ is incorrect?

(A) The Government launched the sale of Arhar Dal in retail packs under the name Bharat
Dal

(B) The Bharat Dal Scheme was launched on 17.07.2023

(C) Dal began to sold at a very subsidized rate of ¥ 60 per kg for 1kg pack and
T 55 per kg for 30 kg pack.

(D) Bharat Dal was to be distributed through retail outlets of NAFED, NCCF, Kendriya
Bhandar & Safal

1 # | “9Rd g0 & geY § HA-91 FI9 T 27
(A) Wﬁ‘mm’%mﬁwﬁmﬁmmﬁﬁaﬁgﬁa&
(B) WRA T ASAT 17.07.2023 A Y& i W f

© =@ @ 1 foell & 3% F fag 60 ¥ wfr e s 30 fFelt & 4% ¥ fig
55 ¥ wla fedt f famdt ® w S g fF o

(D) ¥R T 1 foeR NAFED, NCCF, #ia ¥er 3R &%a 6 geu gami
% Wem ¥ R ST oA
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dentify the incorvect match :

(A) Kayamkulam Power Plant - Thmil Nadu

®) Ramagundam Thermal Power Station — Telangana
©) Uran Gas Turbine Power Station — Maharashtra
O Utran Power Station — Gujarat

& fem e

@) I T w5 - aferg

B) W ardig ﬁ?:l—d &R — AT

€ S T =t fomra g — HERTSg

D) ST foe@ 3% - TR

Find the correct match :

@ Ladang (a) Phillipines
() Humah (b) Sri Lanka
(@) Caingin (c) Malaysia
@) Chena (d) Java

@A ®=(), @) - (@), @ii)—(d), (v)-(a)
®) @ - (@), () —(0), (ii)—(b), (iv)-(a)
© @-(c), () —(d), (ii)—(a), (iv)—(b)
@®) @ —(b), () —(d), (i) - (a), (v)-(c)

() QT (a) Toetfad
i g8 (b) *eiet
(i) HTT (c) Ty
@) FAT CORSIEL

(A) (@) - (), (i) — (b), (iiD) — (d), (V) ~(a)
B) (i) - (@), (i) - (), (i) —(®), (v)-()
© @) - (o), Gi)- (), (ii)— (@), (v)—(®)
D) () - (b), (i) - (d), GiD) — (@), (V)= (c)

CCSME23 (17)/37

17 (PIIT)

Marks
A

P.T.O.



17 (PHI)

LR Tm " Mk

ay

o v . : he year
7o ldentity the correct onder of oilseeds production in Jaharkhand from high to low for the y

2(“‘; \3.

L s

(A)  Groundnut - Sesamum - Soyabean - Castor sced
(B)  Groundnut - Soyabean - Sesamum - Castor seed

(C) Soyabean - Castor seed - Groundnut - Sesamum

(D)  Soyabean - Groundnut - Castor seed - Sesamum
a'é2022-23%mmﬁﬁﬂgﬂmé§wﬁﬁmﬁm%q@mﬁqﬁﬂ'ﬂﬁl
(A) et - foe - A - & W A

(B) Wwa- WA - foe -3E =1 <

(C) UHETEM - 3RS &1 S - Hrded! - faar

(D) THEEM - J%dl - 37 & i - et

8.  Sadni Waterfalls in Jharkhand is on which of the following rivers?
(A) Bhairavi (B) Sankh
(C) Barakar (D) Ajay
ARGEE #, get sy Frefafaa # @ feg 78 W 27
(A) A ®) @
(C) = D) v
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which tribe does not belong 1o Jharkhand?
A) o B) Ao
© Korwa ©) Mahii
Q-d T ARG ¥ wefa W 2o
@A ®) s
(© T ©) e

10. Jharkhand is the largest producer of which variety of silk in India?
(A) Tasar B) En
(C) Muga (D) Mulberry
WG 3 FRE TRR % I0E T T8 F91 IAGH ARG €2
(A) T B) Tl
© wm (D)  STeqd
P.T.O.
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1.  Long Answer Type Questions (3€ I UgA)

: . : : i tion
Examine the potential and challenges of solar energy in India. How the Govemment interven
A’)
rce’

8
may help towards adoption and expansion of solar energy as a major energy sou
WA § WK IS 6 gl o) AR B i wt e gwa 5 YEILE
Il B TS W@ Hl G F §9 H AN i freaia w3 # Wog IR AT €7

2. Discuss the characteristics and spatial distribution of different types of vegetation in India.

"R § Fifr weR 6 et 6 fAdvast o) et oo )=t W

3. Differentiate between tropical and temperate cyclones.

SorRfeaeg 3R Siasr =Raml & S SR R

Identify the regions affected by land degradation and soil erosion in Jharkhand. Discuss the

major causes of erosion in the State.

FREUS A - &R0 SR a1 TG & T & B e | TS H SR WY
FROT W =4 W

* K Kk
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